EARAROBEEIERT — 2 N— IBISH —F

2017888168 (k) 4mE@FI1H

BN —r=721% citc2— 45%—#&

‘ (%] ‘ (EmmEl - | 4 (@) 15000 RE

[A~&£] 17 :1,800,000  ~ 23 :630,000 ™ 37 :360,000H™

4 7% :270,000 B 5 3& :180,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- 7 | EHB 1:38. 1-1-1-1 | 40.0| — | 1 | 484 |AERX (HFN)
111111 Y7Z ) X e 53.0 (3_8)0 0.0 <+82) (/E) RALE
L4374 9X B:4F30 HE R
° N 2 L ER :38. —-4-4- . — FILES (GEFn)
2 2| Ty TTALYT “4 50 (12318/25) Az 02 ? f;) AR
R:A—Y XA x4 B:vvK=949v7 Etitie
= = 4 4 | MEX 1:39.0 5-6-2-3 | 40.7| — 4 464 | AEEUE (GEFD)
3lglo|7T71—T7>Uw 55.0 2 1/2) (+a) |, 8 TZATEE
R:TH—FAFAF XYL BEILELILF ¢ NEFAIS
o4 | BEISHC 1:39.9 6-5-6-4 | 41.4| — 9 430 | HOF (Af)
] 3| ¥RAA 55.0 (5) (+4) | THEE
R:T14—TxAhA4 B:vAHF-4 Bllikae]
w4 REHFEE 140. -7-7- . — e GeFn)
sl7| 7| vH kv o4 i 1(410)1 7-7-7-7 | 41.4 5 (433; i3
R:xAa1z=gr7r—2 B eVSTVFq— hid  HEER
N S, o o4 | DIEEAOIE 1:40.3 9-8-8-6 |41.4| — 8 473 | Wiyt (Afn)
6 6 a2 /)Ny 3> 55.0 (3/4) +3) [/NSEIYN
L:Tw TRy b BNy arly R B
NS N Nz : -10-10- — KBHEE (M1E)
Jl7lg| 7L ke vv L it 5 o 1(74(1):;% 10-10-10-10 40.6 3 (4_218) rEE2
XX R B AyO748-3 HERHE
S % 7 | RED 1:40.8 3-3-3-5 |42.6| — 7 460 | ANERR (D)
s 4| E—T1T7F—R 55.0 2 1/2) -9) I LRE
L:vA7% BTV A-L #H B
R 4t 8 | TAKE 1:41.3 8-9-9-9 |42.5| — 10 | 434 |llIFtsPS (EF0)
9/8/10 7'7/7'/7)[1— 57.0 (2 1/2) (+4) A EHE
R:TINTTY BILALTTI— P EEN
= : 5 | FEEA 1:41.3 2-2-5-8 | 43.1| — 6 451 | BERETT AN
10/5/5| NIAHLRXZ =% e 53.0 (742) 1) | ZB=SAF—ER )
L:Tw TRy b BihohAw—F EEikse
® 1—F—@EBIERL
1T=7r= 1,5,4,2,9,3,7,10,6,8
2a=5F= 1,5,4,2,3,9,7,6,10,8
Ja=5= 1,9,4,2,5,3,7,6,10,8
43—+ — 1,2,9,3,4,6,7,5,10,8
[ N5
B 1 1909 714K 1-2 230M e E 1-2 450 JEE 1-2-9 720M
B B 1 110H 1-9 250M e B 1-2 660M EE 1-2-9 2,980
2 140 2-9 460M B & 1-2 490M
9 170 B H 1-2 690

ABICOVWTRDTEEERROODE. TR LIV,




